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No, the series does not converge when x =1 because when
x =1, the terms of the series do not converge to 0.
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Since the series is a converging alternating series and the
absolute values of the individual terms decrease to 0,
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The series in part (c) with x = % has terms that alternate, decrease in

absolute value, and have limit 0. Hence the error is bounded by the
absolute value of the next term.
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f has a relative maximum at x = 0 because
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The radius of convergence is 5.
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Yes, since f'(2) = T'(2) = 0, f does have a critical No, the Taylor series does not converge at z = —2
p snnt at f =2. ) ) _ because the geometric series only converges on the
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The radius of convergence is 2.
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The Taylor series about = = 5 for the function f,

when evaluated at z = 6, is an alternating series T
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with absolute value of terms decreasing to 0. The
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by p-series test, 2—p converges if p > 1
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and by direct comparison, 2
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so by direct comparison, Z diverges for 0< p<1
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